
ASSEMBLY INSTRUCTIONS

5-Pieces
Dining Set



Parts
Check and make sure you get the components on the list, contact us for any missing

1

A1 : Table Top Side A1

B : Table Top Center

C : Table Leg Cross Beam

D : Center Cross Beam

E : End Cross Beam

F1 : Short Legs R

1 Pc

1 Pc

2 Pcs

1 Pc

4Pcs

1 Pc

I : Wheel 2 Pcs

A2
B 

D
C

E

E
I

F1 G2

H

J : Chair 4 Pcs

H

F2 : Short Legs L 1 Pc

G1 : Long Legs R 1 Pc

G2 : Long Legs L 1 Pc

A1

Dining Table

H : Legs Group 2 Pcs

A2 : Table Top Side A2 1 Pc

F2

G1



2

Parts
Check and make sure you get the components on the list, contact us for any missing

3 : Screw M6 x 70mm

2 : Screw M6 x 50mm

4 : Cap nut M8 x 15mm  

5 : Washer 8.5/30 x 2 

6 : Washer 8.5/30 x 5  

26 Pcs

2 Pcs

2 Pcs

2 Pcs

8 Pcs

14 Pcs

2 Pcs

1 Pc

7 : Allen Bolt M8 x 45mm 

8 : Screwdriver

1 : Screw M4 x 15mm

2 Pcs9 : Allen key 



3

Installation step

Step 2: Connect Table Leg Cross Beam (C) & Center 
Cross Beam (D), End Cross Beam (E) tighten Screw (2)
with Allen Key (9).

Step 4: Connect The Part from Step 1 & The Part from 
Step 2 & Long Legs (G1, G2), tighten Screw (3),
with Allen Key (9).

Step 3: Connect Short Legs (F1, F2) & Wheel (I), 
tighten Bolt (7), Washer (6), Washer (5), Cap nut (4) 
with Allen Key (9).

1

2

2
E

E

D

C

C

B
A1

Step 1: Connect Top Table Center (B) & Top Table  
Side (A1&A2) tighten Screw (1), with screwdriver (8).

A2

1

1

I

7

6
5

4

3

G1

F1

3

3

100% 100%

3

2

100%

F2

G2

100%



4

Step 5: Connect The Part from Step 4 & Connect The 
Part from Step 3, tighten Screw (3), with Allen Key (9). 

Step 6: Connect The Part from Step 5,tighten Screw (2),
with Allen Key (9). 

Step 7: Connect The Part from Step 6 & Legs Group (H),
tighten Screw (1), with screwdriver (8).

Step 7: Connect The Part from Step 7 & Legs Group (H),
tighten Screw (1), with screwdriver (8).

Assembly steps

3

3

2

2

2

1

H

H

1

1

1
100% 100%

100% 100%

3
3



5

Step 11: Place 2 chairs under the table.
Step 12: Place 2 more chairs under the table to store 
when not in use.
Finish.

Step 10: Open and Fold for easy storage.

Step 9: Put the Table upright and make sure all legs are 
level, adjust the leveling feet for balance. 

Assembly steps


